[(EE8EDIE2H]

FTH3E 7R —REFEDVLERRERTELZR(SRLS1E]

£ Bk B:#13%F 878 3H
% A ERY)—ot3—

KEBREQERMERRLAEE (A1 EFE) [FAIEIEFDEN2E4E=RUK]

BHITH-—BERYOEERUVHE [RAEIEZDSD2E451]

iE < % B @ ) G R i T 7K %
. RIS #RK (EiRER) K (FimEs)
AR H (t)
R B %0 3% 71H27H &% 3% TA218 X% 3% TA2IA
\ BRERZENBONE 4% 3% 85 38 <%0 3% 8A 38 4% 3% 8A 38
Tk = 2 1.82 (t) :
EREER™ 16 mS/m 14 mS/m
\ Bk A v mEt 10 mg/L 10 mg/L
MK = (t) o
KEA A VRE (bH) 7.4
U EMIEFERBRRERE 0.5 mg/L
LRE5R (t)
{LEHBRRERE 1.6 mg/L
. FlEYEE 1 R mg/L
ZF0fth (KK ZH) 116.00 (t) o
EREHE 1.1 mg/L
BEROFE 5 ¢ 5 %
Z 0t ( ) (t) C}*
F A H F A H
Z 01t ( ) (t)
PELEEEH LA
ot ( ) (1) ft & 2 DME*?
F Dt ( ) (t)
KERE EEDE)OEBRELEE (F1EAE) [BAUAFIZOSD2F4E-RUK] HROSE [RAF4IZFOSD2F4850, N A, b, FRUY]
G P i T K % - ® Kk T OB BRI
HREN 5 AT BIAE DKEREMRE) SB|FE KERERE] 2B[3E KERERE) 31 5 B’ A R3.7.31 R3.7.31 R3.7.31 R3.7.31
RIRER B Bl (KEREHE] SE|(AE KERERE SB|IK KERERE 38 BEROFE = " "
REFZENSBONE BIfE TKEREMSE] SE|(AE KERERE] SB|AE KERERE 38 £ A H £ B H £ A H £ B H
KEREHR Bl [KERESE] SE|(AE KERERE SB|IK KERERE 38
RROFR G i BELEEEBLIE
BEHRULHEBEON
£ A A £ A 8| |ax

PEGEBEHLCLEARL
ZORE"?




